



$\lambda x_3.(a (\bar{a} (b (\bar{b} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (b (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (a (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (b (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (\bar{a} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (\bar{a} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (\bar{b} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (\bar{b} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (b (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (a (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (b (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (\bar{a} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (\bar{a} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (\bar{b} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (\bar{b} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (b (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (a (\bar{b} (\bar{a} x_3))))))$

$\lambda x_3.(b (\bar{b} (b (b (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (\bar{b} (a (a (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(b (\bar{b} (a (b (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(b (\bar{b} (b (a (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (\bar{b} (b (b (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (\bar{b} (a (\bar{a} (a (\bar{a} x_3)))))$   
 $\lambda x_3.(b (\bar{b} (a (\bar{a} (b (\bar{b} x_3)))))$   
 $\lambda x_3.(b (\bar{b} (b (\bar{b} (a (\bar{a} x_3)))))$   
 $\lambda x_3.(b (\bar{b} (b (\bar{b} (b (\bar{b} x_3)))))$   
 $\lambda x_3.(b (\bar{b} (a (a (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(b (\bar{b} (a (b (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (\bar{b} (b (a (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(b (\bar{b} (b (b (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (\bar{b} (a (a (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(b (\bar{b} (a (b (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(b (\bar{b} (b (b (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (\bar{a} (a (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (\bar{a} (b (\bar{b} x_3)))))$   
 $\lambda x_3.(a (b (\bar{b} (\bar{a} (a (\bar{a} x_3)))))$   
 $\lambda x_3.(a (b (\bar{b} (\bar{a} (b (\bar{b} x_3)))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (b (\bar{a} (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (b (a (\bar{a} (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (b (b (\bar{a} (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (b (\bar{a} (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (b (a (\bar{a} (\bar{a} (\bar{b} x_3)))))$

$\lambda x_3.(a (b (b (\bar{a} (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (\bar{a} (a (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (\bar{a} (b (\bar{b} x_3)))))$   
 $\lambda x_3.(a (b (\bar{a} (\bar{b} (a (\bar{a} x_3)))))$   
 $\lambda x_3.(a (b (\bar{a} (\bar{b} (b (\bar{b} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (a (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (b (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (b (\bar{a} (a (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (b (\bar{a} (b (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (a (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (b (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (b (\bar{a} (a (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (b (\bar{a} (b (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (a (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (b (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (b (\bar{b} (a (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (b (\bar{b} (b (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (b (\bar{a} (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (b (a (\bar{b} (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (b (b (\bar{b} (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (b (\bar{b} (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (b (a (\bar{a} (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (b (b (\bar{b} (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (a (\bar{a} (\bar{b} (a (\bar{a} x_3)))))$   
 $\lambda x_3.(b (a (\bar{a} (\bar{b} (b (\bar{b} x_3)))))$   
 $\lambda x_3.(b (b (\bar{b} (\bar{b} (a (\bar{a} x_3)))))$

$\lambda x_3.(b (b (\bar{b} (\bar{b} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{b} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{b} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{b} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{b} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{b} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{b} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{b} (\bar{a} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(b (a (\bar{b} (\bar{a} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (\bar{b} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (\bar{b} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{b} (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (a (\bar{b} (b (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (a (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{b} (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (a (\bar{b} (b (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (a (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (a (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{a} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{b} (\bar{b} (\bar{a} x_3))))))$

$\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{b} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{a} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (a (\bar{a} (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (\bar{a} (b (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (\bar{b} (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (\bar{b} (b (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (b (\bar{a} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (a (\bar{b} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (b (\bar{b} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (b (\bar{b} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (a (\bar{a} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (b (\bar{b} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (b (\bar{b} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (a (\bar{a} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (b (\bar{b} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (b (\bar{b} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (a (\bar{a} (\bar{b} (\bar{a} x_3))))))$

$\lambda x_3.(a (b (b (\bar{b} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (\bar{a} (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (\bar{a} (b (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (\bar{b} (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (\bar{b} (b (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (b (\bar{a} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (a (\bar{b} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (b (\bar{b} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (b (\bar{b} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (a (\bar{a} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (b (\bar{b} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{a} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{b} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{b} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{a} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (a (\bar{a} (\bar{b} x_3))))))$

$\lambda x_3.(b (b (\bar{b} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{a} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{b} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{b} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{a} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{a} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{b} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (\bar{a} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (\bar{a} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (\bar{b} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (\bar{b} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (b (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (a (\bar{b} (\bar{a} x_3))))))$



$\lambda x_3.(a (\bar{a} (b (b (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (a (a (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (a (b (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (b (a (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (b (b (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (a (\bar{a} (a (\bar{a} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (a (\bar{a} (b (\bar{b} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (b (\bar{b} (a (\bar{a} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (b (\bar{b} (b (\bar{b} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (a (a (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (a (b (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (b (a (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (b (b (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (a (a (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (a (b (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (b (a (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (b (b (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (a (a (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (a (\bar{a} (b (\bar{b} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (b (\bar{b} (a (\bar{a} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (b (\bar{b} (b (\bar{b} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (a (a (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (a (b (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (b (a (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (b (b (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (a (a (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (a (b (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (\bar{a} (b (a (\bar{a} (\bar{b} x_3)))))$

$\lambda x_3.(a (\bar{a} (b (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (\bar{a} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (\bar{a} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (\bar{b} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (\bar{b} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (b (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (a (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (b (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (\bar{a} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (\bar{a} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (a (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (b (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (\bar{a} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (\bar{a} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (\bar{b} (a (\bar{a} x_3))))))$

$\lambda x_3.(b (\bar{b} (b (\bar{b} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (b (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (a (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (b (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (a (\bar{a} (\bar{a} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (\bar{a} (\bar{a} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(a (b (\bar{b} (\bar{a} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (\bar{b} (\bar{a} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (b (\bar{a} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (b (a (\bar{a} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (b (\bar{a} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (b (\bar{a} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (a (\bar{a} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (b (b (\bar{a} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (a (\bar{a} (\bar{a} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (\bar{a} (\bar{a} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(a (b (\bar{a} (\bar{b} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (\bar{a} (\bar{b} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(a (a (\bar{a} (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (\bar{a} (b (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (b (\bar{a} (a (\bar{b} (\bar{a} x_3))))))$

$\lambda x_3.(a (b (\bar{a} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (a (\bar{a} (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (\bar{a} (b (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (\bar{a} (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (b (\bar{a} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (a (\bar{a} (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (\bar{a} (b (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (b (\bar{b} (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (\bar{b} (b (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (b (\bar{a} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (b (a (\bar{b} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (b (\bar{b} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (b (\bar{b} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (a (\bar{a} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (b (b (\bar{b} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (\bar{b} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (\bar{b} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (\bar{b} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (\bar{b} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{b} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{b} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{b} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{b} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{b} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{b} (\bar{a} (\bar{b} x_3))))))$

$\lambda x_3.(b(b(b(\bar{b}(\bar{b}(\bar{b}x_3)))))$   
 $\lambda x_3.(b(a(\bar{b}(\bar{a}(a(\bar{a}x_3)))))$   
 $\lambda x_3.(b(a(\bar{b}(\bar{a}(b(\bar{b}x_3)))))$   
 $\lambda x_3.(b(b(\bar{b}(\bar{b}(a(\bar{a}x_3)))))$   
 $\lambda x_3.(b(b(\bar{b}(\bar{b}(b(\bar{b}x_3)))))$   
 $\lambda x_3.(b(a(\bar{b}(a(\bar{a}(\bar{a}x_3)))))$   
 $\lambda x_3.(b(a(\bar{b}(b(\bar{a}(\bar{b}x_3)))))$   
 $\lambda x_3.(b(b(\bar{b}(a(\bar{b}(\bar{a}x_3)))))$   
 $\lambda x_3.(b(b(\bar{b}(b(\bar{b}(\bar{b}x_3)))))$   
 $\lambda x_3.(b(a(\bar{b}(a(\bar{a}(\bar{a}x_3)))))$   
 $\lambda x_3.(b(a(\bar{b}(b(\bar{b}(\bar{a}x_3)))))$   
 $\lambda x_3.(b(b(\bar{b}(a(\bar{a}(\bar{b}x_3)))))$   
 $\lambda x_3.(b(b(\bar{b}(b(\bar{b}(\bar{b}x_3)))))$   
 $\lambda x_3.(b(a(\bar{a}(a(\bar{b}(\bar{a}x_3)))))$   
 $\lambda x_3.(b(a(\bar{a}(b(\bar{b}(\bar{b}x_3)))))$   
 $\lambda x_3.(b(b(\bar{b}(a(\bar{b}(\bar{a}x_3)))))$   
 $\lambda x_3.(b(b(\bar{b}(b(\bar{b}(\bar{b}x_3)))))$   
 $\lambda x_3.(b(a(a(\bar{a}(\bar{b}(\bar{a}x_3)))))$   
 $\lambda x_3.(b(a(b(\bar{a}(\bar{b}(\bar{b}x_3)))))$   
 $\lambda x_3.(b(b(a(\bar{b}(\bar{b}(\bar{a}x_3)))))$   
 $\lambda x_3.(b(b(b(\bar{b}(\bar{b}(\bar{b}x_3)))))$   
 $\lambda x_3.(b(a(a(\bar{a}(\bar{b}(\bar{a}x_3)))))$   
 $\lambda x_3.(b(a(b(\bar{b}(\bar{b}(\bar{a}x_3)))))$   
 $\lambda x_3.(b(b(a(\bar{a}(\bar{b}(\bar{b}x_3)))))$   
 $\lambda x_3.(b(b(b(\bar{b}(\bar{b}(\bar{b}x_3)))))$   
 $\lambda x_3.(a(a(\bar{a}(a(\bar{a}(\bar{a}x_3)))))$   
 $\lambda x_3.(a(a(\bar{a}(b(\bar{b}(\bar{a}x_3)))))$   
 $\lambda x_3.(a(b(\bar{b}(a(\bar{a}(\bar{a}x_3)))))$

$$\begin{aligned}
& \lambda x_3.(a (b (\bar{b} (b (\bar{b} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (a (b (\bar{a} (\bar{b} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (b (a (\bar{b} (\bar{a} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (b (b (\bar{b} (\bar{b} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (a (b (\bar{b} (\bar{a} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (b (a (\bar{a} (\bar{b} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (b (b (\bar{b} (\bar{b} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (a (\bar{a} (a (\bar{a} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (a (\bar{a} (b (\bar{b} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (b (\bar{b} (a (\bar{a} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (b (\bar{b} (b (\bar{b} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (a (b (\bar{a} (\bar{b} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (b (a (\bar{b} (\bar{a} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (b (b (\bar{b} (\bar{b} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (a (b (\bar{b} (\bar{a} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (b (a (\bar{a} (\bar{b} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (b (b (\bar{b} (\bar{b} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (a (\bar{a} (a (\bar{a} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (a (\bar{a} (b (\bar{b} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (b (\bar{b} (a (\bar{a} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (b (\bar{b} (b (\bar{b} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (a (b (\bar{a} (\bar{b} (\bar{a} x_3)))))) \\
& \lambda x_3.(a (b (a (\bar{b} (\bar{a} (\bar{a} x_3))))))
\end{aligned}$$

$\lambda x_3.(a (b (b (\bar{b} (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (b (\bar{b} (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (b (a (\bar{a} (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (b (b (\bar{b} (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(b (a (\bar{a} (a (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (a (\bar{a} (b (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (b (\bar{b} (a (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (b (\bar{b} (b (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (a (b (\bar{a} (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (b (a (\bar{b} (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (a (b (\bar{b} (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (b (a (\bar{b} (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (a (b (\bar{b} (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (b (a (\bar{b} (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (a (b (\bar{b} (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(b (b (a (\bar{b} (\bar{a} (\bar{b} x_3)))))$

$\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{a} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{b} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{b} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{a} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (\bar{a} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (\bar{a} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (\bar{b} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (\bar{b} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (b (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (a (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (b (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (\bar{a} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (\bar{a} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (\bar{b} (a (\bar{a} x_3))))))$



$\lambda x_3.(a (\bar{a} (b (\bar{b} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (b (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (a (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (b (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (\bar{a} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (\bar{a} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (\bar{b} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (\bar{b} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (b (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (a (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (a (b (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (\bar{a} (b (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (\bar{a} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (\bar{a} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (\bar{b} (a (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (\bar{b} (b (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (a (b (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (\bar{b} (b (a (\bar{b} (\bar{a} x_3))))))$

$\lambda x_3.(b(\bar{b}(b(b(\bar{b}(\bar{b}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(a(a(\bar{a}(\bar{a}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(a(b(\bar{b}(\bar{a}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(b(a(\bar{a}(\bar{b}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(b(b(\bar{b}(\bar{b}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(a(\bar{a}(a(\bar{a}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(a(\bar{a}(b(\bar{b}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(b(\bar{b}(a(\bar{a}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(b(\bar{b}(b(\bar{b}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(a(a(\bar{a}(\bar{a}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(a(b(\bar{a}(\bar{b}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(b(a(\bar{b}(\bar{a}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(b(b(\bar{b}(\bar{b}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(a(a(\bar{a}(\bar{a}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(a(b(\bar{b}(\bar{a}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(b(b(\bar{b}(\bar{b}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(a(a(\bar{a}(\bar{a}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(a(b(\bar{b}(\bar{a}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(b(a(\bar{b}(\bar{a}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(b(b(\bar{b}(\bar{b}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(a(a(\bar{a}(\bar{a}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(a(b(\bar{b}(\bar{a}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(b(a(\bar{b}(\bar{a}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(b(b(\bar{b}(\bar{b}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(a(a(\bar{a}(\bar{a}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(a(b(\bar{b}(\bar{a}x_3))))))$   
 $\lambda x_3.(b(\bar{b}(b(a(\bar{b}(\bar{b}x_3))))))$

$\lambda x_3.(b (\bar{b} (b (b (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (\bar{a} (a (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (\bar{a} (b (\bar{b} x_3)))))$   
 $\lambda x_3.(a (b (\bar{b} (\bar{a} (a (\bar{a} x_3)))))$   
 $\lambda x_3.(a (b (\bar{b} (\bar{a} (b (\bar{b} x_3)))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (b (\bar{a} (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (b (a (\bar{a} (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (b (b (\bar{a} (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (b (\bar{a} (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (b (a (\bar{a} (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (b (b (\bar{a} (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (\bar{a} (a (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (\bar{a} (b (\bar{b} x_3)))))$   
 $\lambda x_3.(a (b (\bar{a} (\bar{b} (a (\bar{a} x_3)))))$   
 $\lambda x_3.(a (b (\bar{a} (\bar{b} (b (\bar{b} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (\bar{a} (a (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (b (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (b (\bar{a} (a (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (b (\bar{a} (b (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (a (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (b (\bar{b} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (b (\bar{a} (a (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (b (\bar{a} (b (\bar{b} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (a (\bar{a} (\bar{a} x_3)))))$   
 $\lambda x_3.(a (a (\bar{a} (b (\bar{a} (\bar{b} x_3)))))$   
 $\lambda x_3.(a (b (\bar{b} (a (\bar{a} (\bar{a} x_3)))))$

$$\begin{aligned}
& \lambda x_3.(a (b (\bar{b} (b (\bar{a} (\bar{b} x_3))))) \\
& \lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3))))) \\
& \lambda x_3.(a (a (b (\bar{a} (\bar{a} (\bar{b} x_3))))) \\
& \lambda x_3.(a (b (a (\bar{b} (\bar{a} (\bar{a} x_3))))) \\
& \lambda x_3.(a (b (b (\bar{b} (\bar{a} (\bar{b} x_3))))) \\
& \lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3))))) \\
& \lambda x_3.(a (a (b (\bar{b} (\bar{a} (\bar{a} x_3))))) \\
& \lambda x_3.(a (b (a (\bar{a} (\bar{a} (\bar{b} x_3))))) \\
& \lambda x_3.(a (b (b (\bar{b} (\bar{a} (\bar{b} x_3))))) \\
& \lambda x_3.(b (a (\bar{a} (\bar{b} (a (\bar{a} x_3))))) \\
& \lambda x_3.(b (a (\bar{a} (\bar{b} (b (\bar{b} x_3))))) \\
& \lambda x_3.(b (b (\bar{b} (\bar{b} (a (\bar{a} x_3))))) \\
& \lambda x_3.(b (b (\bar{b} (\bar{b} (b (\bar{b} x_3))))) \\
& \lambda x_3.(b (a (a (\bar{b} (\bar{a} (\bar{a} x_3))))) \\
& \lambda x_3.(b (a (b (\bar{b} (\bar{a} (\bar{b} x_3))))) \\
& \lambda x_3.(b (b (a (\bar{b} (\bar{b} (\bar{a} x_3))))) \\
& \lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))) \\
& \lambda x_3.(b (a (a (\bar{b} (\bar{a} (\bar{a} x_3))))) \\
& \lambda x_3.(b (a (b (\bar{b} (\bar{b} (\bar{a} x_3))))) \\
& \lambda x_3.(b (b (a (\bar{b} (\bar{a} (\bar{b} x_3))))) \\
& \lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))) \\
& \lambda x_3.(b (a (\bar{b} (\bar{a} (a (\bar{a} x_3))))) \\
& \lambda x_3.(b (a (\bar{b} (\bar{a} (b (\bar{b} x_3))))) \\
& \lambda x_3.(b (b (\bar{b} (\bar{b} (a (\bar{a} x_3))))) \\
& \lambda x_3.(b (b (\bar{b} (\bar{b} (b (\bar{b} x_3))))) \\
& \lambda x_3.(b (a (\bar{b} (a (\bar{a} (\bar{a} x_3))))) \\
& \lambda x_3.(b (a (\bar{b} (b (\bar{a} (\bar{b} x_3))))) \\
& \lambda x_3.(b (b (\bar{b} (a (\bar{b} (\bar{a} x_3)))))
\end{aligned}$$

$\lambda x_3.(b (b (\bar{b} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{b} (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (a (\bar{b} (b (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (a (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (a (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{a} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{b} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{b} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{a} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(a (a (\bar{a} (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (\bar{a} (b (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (\bar{b} (a (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (\bar{b} (b (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (b (\bar{a} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (a (\bar{b} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (b (\bar{b} (\bar{b} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (a (b (\bar{b} (\bar{a} (\bar{a} x_3))))))$   
 $\lambda x_3.(a (b (a (\bar{a} (\bar{b} (\bar{a} x_3))))))$

$$\begin{aligned}
& \lambda x_3.(a (b (b (\bar{b} (\bar{b} (\bar{a} x_3))))) \\
& \lambda x_3.(a (a (\bar{a} (a (\bar{a} (\bar{a} x_3))))) \\
& \lambda x_3.(a (a (\bar{a} (b (\bar{b} (\bar{a} x_3))))) \\
& \lambda x_3.(a (b (\bar{b} (a (\bar{a} (\bar{a} x_3))))) \\
& \lambda x_3.(a (b (\bar{b} (b (\bar{b} (\bar{a} x_3))))) \\
& \lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3))))) \\
& \lambda x_3.(a (a (b (\bar{a} (\bar{b} (\bar{a} x_3))))) \\
& \lambda x_3.(a (b (a (\bar{b} (\bar{a} (\bar{a} x_3))))) \\
& \lambda x_3.(a (b (b (\bar{b} (\bar{b} (\bar{a} x_3))))) \\
& \lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3))))) \\
& \lambda x_3.(a (a (b (\bar{b} (\bar{a} (\bar{a} x_3))))) \\
& \lambda x_3.(a (b (a (\bar{a} (\bar{b} (\bar{a} x_3))))) \\
& \lambda x_3.(a (b (b (\bar{b} (\bar{b} (\bar{a} x_3))))) \\
& \lambda x_3.(a (a (\bar{a} (a (\bar{a} (\bar{a} x_3))))) \\
& \lambda x_3.(a (a (\bar{a} (b (\bar{b} (\bar{a} x_3))))) \\
& \lambda x_3.(a (b (\bar{b} (a (\bar{a} (\bar{a} x_3))))) \\
& \lambda x_3.(a (b (\bar{b} (b (\bar{b} (\bar{a} x_3))))) \\
& \lambda x_3.(a (a (a (\bar{a} (\bar{a} (\bar{a} x_3))))) \\
& \lambda x_3.(a (a (b (\bar{a} (\bar{b} (\bar{a} x_3))))) \\
& \lambda x_3.(a (b (a (\bar{b} (\bar{a} (\bar{a} x_3))))) \\
& \lambda x_3.(a (b (b (\bar{b} (\bar{b} (\bar{a} x_3))))) \\
& \lambda x_3.(b (a (\bar{a} (a (\bar{a} (\bar{b} x_3))))) \\
& \lambda x_3.(b (a (\bar{a} (b (\bar{b} (\bar{b} x_3))))) \\
& \lambda x_3.(b (b (\bar{b} (a (\bar{a} (\bar{b} x_3)))))
\end{aligned}$$

$\lambda x_3.(b (b (\bar{b} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{a} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{b} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{b} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{a} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{a} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{b} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (b (\bar{b} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (\bar{a} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (a (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (\bar{b} (b (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (a (\bar{a} (\bar{a} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (a (b (\bar{a} (\bar{b} (\bar{b} x_3))))))$   
 $\lambda x_3.(b (b (a (\bar{b} (\bar{a} (\bar{b} x_3))))))$

$$\begin{aligned}
&\lambda x_3.(b\ (b\ (b\ (\bar{b}\ (\bar{b}\ (\bar{b}\ x_3))))) \\
&\lambda x_3.(b\ (a\ (a\ (\bar{a}\ (\bar{a}\ (\bar{b}\ x_3))))) \\
&\lambda x_3.(b\ (a\ (b\ (\bar{b}\ (\bar{a}\ (\bar{b}\ x_3))))) \\
&\lambda x_3.(b\ (b\ (a\ (\bar{a}\ (\bar{b}\ (\bar{b}\ x_3))))) \\
&\lambda x_3.(b\ (b\ (b\ (\bar{b}\ (\bar{b}\ (\bar{b}\ x_3)))))
\end{aligned}$$